5.

: , : _ -
Alternative Investment Fund (AIF) is any fund established or incorporated in Indi

which is a privately pooled investment vehicle collecting funds from suphlﬁt-'“"'('d
investors, whether Indian or foreign. for investing it in accordance with a defined
investment policy for the benefit of its investors. In how many categories is the Aﬂf}
divided ? %':"?7
\DY~ b@,

7 L
87
In context of Inter-State River Water Disputes (Amendment) Bill, 2019, which of the bgc
following statements are correct 7 9

(a) 2 by 3 (c) 4 d 5

1. The Bill proposes to set up a permanent tribunal to adjudicate on all inter-state /G‘)"g

disputes over sharing of river waters. S

; 0
1I. The tlhﬂpute resolution committee will seek to resolve the dispute I.h.rtm&l'?(i
negotiations, within two years which can be extended by 6 months.

11l The current system of dispute resolution would give way to a new two-ti
approach with DRC and the tribunal. c}

#

AN
(a) Il only (h) II and IIT only @‘3’/
{c) Tand III only _4d) land ITonly Qy.\ A 5

You are shown a simple analog clock with an hour hand and a pfpite hand. If the

time shown in the clock is exactly 12 : 15, what is the angle between the hour hand &

and the minute hand ? " — exp - v
,..\—\@\ -

a7 90° b} 75° {c) 84° @ 825° ) font—

Ayesha invests T x for a year in a Fixed Deposit (F.D.) that gives simple interest at o, .,
the rate of 6% per annum (p.a.). She invests half the amount she gets at theend of the %7 5
Jedeedd sl

first year, for another year, in an F.D. that gives 5% p.a. simple interest, spends half = - s
of the remaining amount and lets the rest of the amount be in her Savings Bank

account which gives a simple interest of 3% p.a. With no other income or expenditure,
if she has T 99.534 at the end of the sccond year then x is equal to :

13
(a) 1,00,000 ) 90,000 g 3
(¢) 1,20,0007 (d) None of the ahove =3

Water flowing from a tap at a constant rate g{_r_litmﬁmjnuw can fill a cylindrical tank /E;dz
w A hole is made at the bottom of the tank so that water flows out of the

fank at a constant rate = on&thixj fhe rate of flow of water from the tap. When the

tank gets full, the hole gets sealed aumaticaily. If the tank (with the hole) is empty

{0 begin with and water gta_r‘ls flowing from the tap at rate litres/minute, how long , , ‘;_'f

ﬁﬂitmkeforthztanktobecumefuﬂ? °f01_§?

(a) B8 minutes (b) 9 minutes (c) 12 minutes (d) 18 minutes L
.

June 2023 é')( -~ ({B-3) e >

| f = —
| At S = IOUN> T Sppo~

e
e > Jwo Yoor




o RO

fﬁaa’aaz}fqﬂ?waafémrﬂrr’né'g'
’ _
o o 305 & T 5 9 T

6.

ﬁamwwg@mamﬁﬁ?mélww%
& dosr ST m?uff;maawmma’aimmém%sawa‘géé.
i ﬁ_mﬁawwmmﬁamwg@m
mmm@w@mﬁéwﬁazt.:.wj?élﬁaamm

Sarit & g 373 5285 RIS 3 3 fep I § TG BY <3 I g &
SaF v B 99 fla d ?

(a) BIFT 600 fHBIH (b) BIFI 6125 FBIH

(¢) ST 596 fIBIH (d) B 5925 fABIH

Safda TEH © vIY vina 39 3 foRfes g 96 3 IF JT 3 293 & farest 2@
&8 HeBe IR I5 | 26 $939 I '3 yF fewadt 70 guB w3 50 29I IT 2

(b) 5034
(d) uIa3 T I| &It

‘f-mgaﬁaofeafé’rﬁ{wééa'aﬂooguﬁvmw
9% 89 4 fes dig I73 fFor w3 de we Sfos '3 15 guR yFt
fomr | 59m § ydt Ioua 18 foa & 85 ot ey 80 vt fews
| 82 w8z Tfenr § O fos € it Iawe S et it | g
Hite" &8 Ioug &S A 7 99 I A 3 wrEe W w3 g dig

(b) 3000 FuUB () 2700 gue (d) 2250 gue

ST HTlE 9, g 22qe9 ddfes wEE € « que, ufod
9, w3 10 3 ¥ 934 fife B8R « & 15 B vrom ager 3 |
29[ 2 darfer w3 20 fife & 35 45 YR IH F@er J 3T .

(b) 35 (c) 45 @ 5
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11. “All quiet .pnnple are harmless”. “No harmless people are easily identified”
The premises above lead to which of the following conclusions 1

v :
An) Quet people are not easily identified

i . H‘\ i

(h) Most people who are easily identified are harmless @H\ :
(¢) All harmless people are quiet & . o @ ‘j
(d) Some easily identified people are quiet

Directions : (Question Nos. 12 to 15)

P.QR. ST 1, Vand W are sitting around a square table in such a way that four of them
it at four corners s of the square while four sit in the _g}id;_llg__nf_cuch of the four sides. The
ones who sit ab the four corners face the centre while those who sit in the middle of the
cides face outside. Each of them have a different profession \'izﬂ’rufvsam’. Architect,
Businessman, Doctor, Chartered accountant, Tramner, Banker and ‘Coder. (None of the

information given 18 necessarily in the same order). — D
«  The one who is a Coder does not face inside Only two persons sit between R and Wm

e« The one who is a Professor sits on the lmmem right of W. The one who is
Chartered accountant sits second to the right of V. V is an ;mmediate neighbour of
neither W nor RV does not sit third to the right of R.

. R and U does not sit diagonally. Only one person gits between P and the one who is
Chartered accountant. R sits third to the left of the on¢ who is & Coder.

e Theonewhoisd Chartered accountant 18 not an immediate neighbour of the one who
is Coder, S sits on the immediate left of the one who is 8 Trainer. V is not a Trainer.

. T is a Banker. T is not an immediate neighbour of P.
. Architect is 4n immediate neighbour of T. wﬁ\ ‘:(
«  Doctor is an immediate neighbour of U —}

12. Who amongst the following sits diagonally opposite t0 Professor ?

(a) Architect by S € P (d) Trainer

13. Who among the following represent the immediate neighbours of the Chartered
accountant ?
(a) QU b R,T e QS d SU

14. Who among the following sits exactly between W and P ?
fa) R (b) Architect (¢) Businessman ) Q
15, Which of the following is true regarding Q ?
(a) Qisone of the immediate neighbours of S
(b) Coder is an immediate neighbour of Q
(¢) Qsits gecond to the left of W
(d) Qisan immediate neighbour of the Professor

F—‘f’{u{u )
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Use the relations defined below to solve Question No. 16.
S * T means S is thu.f;i.gt_er of T.
S + T means S is the brother of T.
S - T means S is the son of T.
S /T means S is the daughter of T. C(" P'*.
S = T means S is the father of T.

e o
§ » T means S is the mother of T. ?*R *@

16. Which of the following means P is the sister of Q7

() Q+R-P plo) Q*R-P

0% S
(© P=Q+R 4d) P*R+Q 2
< oK

17. P can do a piece of work in 27 days. Q can do the same piece of work in 18 days. Q
started the work ﬂ}g{f_}.“_‘i._?_.ji’-i—ge—d_h,i_InMr. The work was completed in 12 days.
el ool
How many days did @ work more than P ?

P#-;,'}:Q Y SY
) 8 ®) 5 Q-1% 5 e

" !"—
(o) %/C d 6 WP_:_ 2
. AS
/?‘ % \ e T -f gf = b

18. Aman runs at a speed OL@n/min. Mohit follows him after an interval of 5 min and
runs at a speed of 60 m/! F‘ Mohit's dog runs at a speed of 70 m/min and starts along
with Mohit. The dog reaches Aman and then comes back to Mohit and continues to do
so till Mohit reaches Aman. What is the total distance covered by the dog in metres ?

(a) 288 (b) 770 %

3 v
© 1400 _Ad) 1750 A

: {B-9) . 7
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Directions : (Question Nos. 19 to 21); Railways analyzed the goods transported using its

services across five different regions of a country. The total goods transported (in lakhs of

tonn

es) during 2018, 2019 and 2020 are shown in the following bar graph.

1 . £ \
Goods Transport through Railways

A &
LA
‘-.\"l' b

o 16.¢ \
; 18 1— E_ 6.9 D r\ 7
) 16 2 s ; C
/\;1 14 4\
e \=/ 126 x
("7 -~ 12 1 vy
\ |//
(L)’\ q° 0 . a1 «q
Tia 8| (3= .
L QYA =
| il 6.1 3
M 1
4 -
2_
ﬁ ':L’_. r 0-
BT I North East South West Northeast a7 (- e
‘3 W2018 FA2019 []2020
19. During the period 2018 — 2020, for which region was the rate of increase in goods
transported second highest ?
(a) East -af(SouLh (¢) Northeast (d) North
20. What is the approximate goods transported in North in 2018 to the goods transported
','ﬂ].. ~ in Northeast in 2020 7 WS
- s : i = 7.1
Y (@) 31'16% WW (b 36:02% AR
(c)-58-44% (d) None of the above ﬂ
21. What is the ratio of average goods transported in South in given three years to the
'!,y average goods transported in West in the same period ?
i oo .
i
\rx5 (a) 41'76% 52:16% S 2 qww
(c) 57-86% (d) 6587% U-s
22. A skating champion moves along the circumference of a circle of radius 21 meters in
Y 44 seconds. How many seconds will it take her to move along the perimeter of a
2

i
‘ June 2023 fgh—"

hexagon of side 42 meters ? _ Y‘E
2 ”’"--r?}_ L

(a) 56 MZEN caflas oo

(c) 64 ?/57’ (d) 58

\S
!
LT E%
C 3

225
LB ?},’o,ﬁafval

A sl 7 5
%ﬂ

1

g
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Directions : (Question Nos. 39 to 42) : The following pie chart shows the ice-creams present

at two different ice-cream parlors P and Q. The distribution of 6 different ice-creams by

weight is ¢ resented in table. The total quantity of 1ce-creams with P is 250 kg and that
with @ (s 200 kgl

Iee-cream Parlor P (250 kg)
N e

Chocote

m Vanilla

Strawberry 77« ¢
B3 gesspery S2-S

B Frum@G

@ Butterscatch

lee-cream Parlor Q (200 kg)

=0 S
59/ s @thncwhu
51% irﬁ:.lg% : : M Vanilla
" 5 Ly N
16% BN 1w
Pt &

@ Butterscatch /

23, What is the difference between the quantity of Vanilla in kg at parlor Q and that at
s

parlor P?
(a) 13 (b) 10

June 2023 (B-13)




24.

26.

27.

Which are the two icecreams that are less in quantity with P than that with Q 7

T
(g)~ Butterscotch, Chocolate w (b) Vanilla, ‘Stmwhf.-rr_\ﬁL
(¢) Vanilla, Rasphprryc_{___ (d) Chocolate, Tutti i'ruthL

What is the absolute difference in quantity in kg of Raspberry and Strawberry
together at parlor P and parlor Q ? > d

@22 (b) 28 () 23 (d) 35

If all cats are dogs and some dogs are rabbits, which of the following statements must
be true ?

(a) All rabbits are cats

(b) All dogs are cats

(¢) All cats are rabbits

Ay ~Some rahbits are dogs

A B.C.D,E, F, G, Hand I are nine houses. Cis 3 km East of B. A is 2 km North of B
and H is 4 km South of A. G is 2 km West of H while Dis 4 km Eastof G. Fis 4 km
North of G, 1 is situated just in the middle of B and ©, while E is just in the middle of
H and D. Find the distance between E and G,
(a) 5km (b)y 4km
() (d) 2km
X447
In a certain code language UNITVERSITY is written as YUJTSEWJOU., How will
STRAWBERRY be written in that code language ?
(a) YSSFC_)_{_.I;SEJ__S__,_ (b) YSSEBWASUS L’N‘U? ey T‘j
(¢) YUSBXCFSSY ng{ SUSWABESSY 1 GATSEW ToUL
The number LA
{a) Divisible by 3 but not by 11 N
(b) Divisible by 11 but not by 3 % = T
1
() Divisiblebyboth3and1l B ,ﬂ g % ¢
‘}d—)/bmmb!e neither by 3 nor by 11 e
72 M - n

June 2023 {{B=15:)
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30.

31,

What was the day of the week on 15th August 1947 2 '

(a) Tuesday (th)  Wednesday

_ie] Friday (d) Thursday

On your travels you meet an old man on the side of the road holding three cards from
a standard deck face down. Trying to make conversation you ask him what the three
cards are. He tells you, “To the left of the queen, are one or two jacks. To the right of
the jack, are one or two jacks. To the right of the club, are one or two diamonds. To the
left of the diamond, are one or two diamonds.” What are the three cards ?

(a) The jack of clubs, jack of diamonds, and queen of diamonds.

(b) Jack of diamonds, jack of clubs, queen of diamonds

{c) Both (a) and (b)

(d) None of the above

In the following series which element comes seventh to the left of number 77
A, 26,B,25,C,24,D,23, 222, Fm/,_c,, 2o WA | 18 7 (7
(a) P «h Q 1 ~ oy To7
© R @ S ot el S IS
Three partners N, M and O distribute the earnings they got after dmng a particular
assignment, They got an amount of ¥ ‘1240 N gets /5t of M’s share and M gets 2/3™
of O's share. What is N's share ? S
@) 240 sy 324 et
(c) 254 (d) 468 r.\ - o v
74

X and Y play shooting in the - bulls eye, X plays 7 turns to Y's every 5 turns, but hits

PR P L
bulls eye only once in 3 turns whereas Y hits bulls eye every a]i,emnte turn. When Y

has missed 75 times, X has hit bulls eye for how many times ! ?

\1 (a) 60 5 b) 10 e e 3—3—9—;
o isgll 6 @)=a20 iy 6
S- = q?q(} 'S ST 3 u?
June 2023 £2° L vBEaT) 2
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How many natural numbers having at most five digits have a sum of their digits as at

35.
most six ?
(a) 461 (b) 457
(c) 462 (d) 125
36. 1 sold two scooters at same price, one of them at 10% profit. I incurred total loss of
12% in overall transaction. What was the approximate profit/loss incurred on the
other scooter ?
() 13% loss (b) 27% loss
(c) 13% profit (d) 22% loss
37. Out of 8 students in Section Alpha, 10 students in Section_Beta and 12 s students in
Section Gamma a teacher wants to create a team of three to represent the school in
inter- F-achool qui quiz competition. In how many ways the team can be formed such that all
the members of the team are not from the same section ?
(a) 3664 (b) 396
(c) 4060 (d) 8120
88. Find P in the following figure : (O i
| v
Bl ey 12
31 3! L x 8
%0 o' @
\\©
=5
] ]oﬂ \! 0
= eR n\o
R
L2 y b
(@ 2 M4 -
(c) 6 (d) 8 Q\
June 2023 (B-19) O
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Directions : (Question Nos. 339 to 49) - In a school, results of 12 class mid-semester exam
were declared- All were disappointed with the results. The summary of the results was 52%
passed in Geo‘l__:{.r_‘nphg‘. 49% passed in H:';.-(."un' and 38% passed in Biology Only 9% .-rmrff'n.'_-i

Zin all the three. 17% passed in Geography and Historyjand 16% passed in Geography

“passed in all
and Biology and 15% passed in History and Biology. Number of students who took the exam
is 300.
3 o2
39, How many students passed in Geography only ? (n
(a) 63

S’L?' (b) 84
/g;:- (c) 96

o e e, p \
b (@ \iy\,\ S r\i
<> A /&
O Oy

40. Find the ratio of students passing in Geography only to the students passing in

Biology only.

1 (

. (a) 5:6 [»

) 4:5 % d"/
© 8:17 == 7‘%
@ 17:4

41, A student 1s Mugd pass in the exam only if he/she clears at-least two subjects.

What was the number of students who were declared passed in this exam ?

(a) 30 !

(b) 90 (]

(c) 64 3 m} | S‘f
(d) 82 4 8 jj?.l

D .
42. What is the ratio of ud;h who passed in exactly one and exactly two subjects ? W’"é
(a) 9:4
- a ue
o i Lk e 583
: A
@ 11:4 = @ 0

June 2023 (B-21)
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43.

{n which of the following place of Mesopotamia the textual reference for Indus Trade
in the form of Dilmum, Magana and Meluhha was reported 7

(a) Halaf (b) Naisuna (¢) Uruk (d) Akkad

Which of the following ruler of Kashmir constructed the channels for irrigation on
Jhelum river ?

1_y{.’nlimdityn (h) Vinayaditya
(¢) Avantivarman (d) Sankaravarman

Match List T with List 1T and select the correct answer using the code given below the
lists :

List 1 Last 11
(Name of the Jina) (Cognisance)
A, Adinath 1. _Snake
L
B. Shantinath © Conch shell
(. Neminath Deer
D. Parshvnath” Bull
Codes :
R B G
(a) 3 2 4 1
s 3 A )
€ 1 4 3 2
d 2 3 4 1

46.

417.

Which of the following Minor rock Edict of Ashoka engraved the numerical number
both in words and figures ?

(a) Maski (b) Gujarra (c) Ahraura (d) Panguraria
Arrange the following in @ chronological order-and celect the correct answer from the
codes given below !

1. Tahmas Namah by Tahmas Khan

1L Dabistan-E-Mazahib by Mohsin Fani

[0, Tharatnamah Mirza by Mohammad Harsi

V. Jangnamah by Qazi Nur Mohammad

(@ Iv, I, 0OLI (b TLILIV,I

(¢) ILILLIV (@) LIV, I

A reconciliation of Vedanta and Shaivite beliefs was developed by which of the
following ?

(a) Appaya Dikshita (b) Narayan Bhatt

(¢) Raghunanadana (d) Madhavacharya

June 2023 (B-23)



49.

51.

52.

Which facts are true about Vijayanagar empire ?

L
IL
1.

Iv.
(a)

e}

Women were employed as wrestlers, astrologers and soothsayers.
The city of Vijaynagara had seven citadels.

Amuktamalyada, said to have been composed by Krishnadevaraya, commends
Brahmans as Provincial Governors.

Devaraya I had appointed Muslims in his army.
11, 111 and IV only (b) I, 11 and IV only
I, 11 and 111 only f 1,11, 1 and IV

Which of the following changes in the Iqtadari system was not introduced by Firoz
Shah Tughlag ?

(a)

(b)
(e)

d}

He restored the system of payment of salaries to soldiers by land assignments
now called wajaf.

The wajafdars, holders of such assignment, were another group of Iqtadars.

The system of sub-assignment of land by mugqtais to their soldiers was also
started.

He rigidly enforced the non-transfer of assignments,

Arrange the following events in chronological order :

L
Il

1L
V.

The First Anglo-Sikh war |3 S

The Second Carnatic war

The First Anglo-Mysore war

Battle of St. Thome

) LILOLIV & (b) Al ds LIV

a0

A

/V oL LI () IV, 1L, 1L I

Morley-Minto reforms aimed at

L
1.

I
v

Increasing number of members in Legislative Council at Centre
Separate electorates for Muslims

Reserved seats in Provincial Assembly for Dalits

Promotion of education

Select the correct answer from the codes given below :

(a)
(e)

I and I1 only (b) T and IV only
1, 11 and I1I only 9}/“[ 11, 1 and IV

June 2023 (B-25)



53. Match the following :

Al
B
C
D,

List T List 11

fiSalt March Place) (Leader)

Malabar 1. Gopabandhu Chaudhary
Orissa 2. C. Rajagopalachari
Tamilnadu 3.  KKelappan

Bihar 4. Mahadev Lal Saraf

Chovse your answer with the help of the given options -

(a)
(h)
te)
(d)

A R G D

1 2 3 4
2 3 4 1
4 3 2 1
3 1 2 4

54.  Which of the following statements about Awadh are correct ?

L
1L

1L

Iv.

The Subsidiary Allance was imposed on Awadh in 1801

“A cherry that will drop into our mouth one day™ was stated by Lord Dalhousie in
1851 about Awadh.

Awadh was formally annexed to the British Empire in 1876,

“The life was gone out of the body” was lamented for Nawab Wajid Ali Shah who
was dethroned and exiled to Caleutta on the pretext of misgovernance .

Choose the correct answer using the code given below.

(a)
(c)

I, IT and IV are correct (b} I, Il and 111 are correct
I1, 111 and IV are correct !gjn I 11, 111 and IV are correct

55. What are true about the Cabinet Mission Plan ?

I. It recommended a three-Licr confederation with & weak Central Govt. controlling
foreign affairs, defence and communication. Ay

II.  Provincial Assemblies while electing Constituent Assembly be grouped into
three sections : A (Hindu majority provinces), B (Muslim mujority provinces of
North-West) and C (Muslim majority provi of North-East).

HI. Grouping to be compulsory at first but provinces have the right to opt out after
new constitution and elections.

IV. On this basis the Congress in March 1947 divided Punjab into two — Muslim
majority West and Hindu/Sikh majority East and asked similar application in
Bengal.

Choose the correct answer :

fa) land I only {b) I, Il and I only

(e) I, III and IV only (d) I 1L, 111 and IV

e
June 2023 (B-27)
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9. Match List 1with List IT and choose the correct option.

List I
(Book)
A. Gagan Mai Thal
B. Mera Pind ;
C. Rasidi Ticket—"
D. Nange Pairan da Safar
Codes :
A B C D
{a) 1 4 3 2
b)) 4 2 1 3
(e} 4 1 2 3 - J
/Hl’f/' 1 4 2 3 -

1 &
_2.
3
4.

List I
(Author)
Gurdit Singh

Amrita Pritam
Dalip Kaur Tiwana

Balwant Gargi

60. Who is popularly known as “Punjabi Natak di Nakkad Dadi” 7

@) Norah Richards
(c) Daleep Kaur Tiwana

(b)
(d)

Amrita Pritam
Amrita Shergl

61. Lanak La Pass is located near the border between which of the following countries ?

(a) India and Pakistan
(¢) India and Afghamstan

(b) _India and China
_{d+~ India and Nepal

62. Match List 1 with List [Iand select the correct answer from the code given below the

lists.

ListI

(Thermal Power Station)
A Sikka
B. Korba
¢. Parh
D. Ennore
Codes :

A B G D
Ve
by 1 2 4 3
&) 1 o a4
d) 4 3 2 1

June 2023
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Lastdl
(Location)
Gujarat
Chhattisgarh
Muharashtra

Tamil Nadu
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g6, Match List I with List II and choose the correct option from the code given below the

lists.

List I

(Bridges)
A Bogibeel 1.
B. Pamban 2.
. Vidyasagar Setu 3.
D. Bhupen Hazarika Setu 4.
Codes:

A"B € D
(a) 4 3 2 1
by 1 3 4 2
( 2 3 3 4

—{: g w3 REgTg 3

67. The Asiatic Lion Reintr
provide safeguards to
reintroduction. As part 0
potential habitat for the lion population ?

(a)- Ranthambore National Park

—_—
(e}

¢8. In making the saffron spice,

(a) Leaf yPetal
9. Match LiSthithLilt
lists.
List I
(Biosphere Reserve)
A, Simlipal L
B. Manas 2
©. Dihang Dibang 3.
D. Nokrek -
Codes :
g . cL D
)/‘: gl
oy o P : i
@y 0 4 4
i

Lust IT
(Rivers | Water bodies)
Brahmaputra

Lohit
Palk Strait
Hooghli

oduction Project is an initiative of the Indian Government to
the Asiatic lion from extinction in the wild by means of

f this project which of the following sites is considered as

Kuno Wildlife Sanctuary

June 2023

[,hb(‘Sariskn Tiger Reserve
(d) Dandeli Wildlife Sanctuary

which one of the following parts of the plant is used ?

(c) Sepal (d) Stigma

II and select the correct answer from the code given below the

Lise 1T

{Location)
Meghalaya
Arunachal Pradesh
Assam

Odisha

(B-35)



70. Which among the following are true about Sagarmala project ?
I.  Toenhance the performance of logistic sector

[l To optimally utilize the country's waterways and coastline for cheap
transportation

III. To develop SEZ in the coastal areas for export

IV. To develop 5 new ports to increase trade

(a) 1l and IV only by L Il and IV only
(e LIIandIVonly - (dL~T, 1, [1T and IV

71. Identify which do not truly describe the major differences between 4G and 50
communication :

I.  Speed in 4G is up to 100 Mbps while it is up to 20 Ghps in 56
II. Latency in 4G is 50 milliseconds while in 5G it is I millisecond.
1. Bandwidth in 4G is 200 MHz to 500 MHz while in 5G it is 600 MHz to 2-5 GHz.

IV. Presently geographic coverage is more in 4G than 5G network.

d_,-(-&ﬂ/‘ I only (bl I and 1T only

(¢) T only (d) Il and IV only

72. Regarding acid rain, which of the following statements are correct ?

1.  English scientist Robert ‘Angus Smith coined the term acid raia in his studies of
air chemistry in Manchester, England, in the 1850s.

I The eggs and young of many fish species are killed when the EH drops to about

5:0.

Il Trout, salmon, and other game fish are usually the most resistant to pH levels
below 50

IV. Carp, gar, suckers, and other less desirable fish are more sensitive to pH levels
helow 5:0.

Choose the most appropriate answer from the options given below :
(a) Onlyl, TMand Il

Wy 1and I1

(¢) Onlyland i

@ Onlyl, mTand TV

I8-a
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73. Arrange the following in the correct sequence of events in El Nifno-Southern
Oscillation (ENSO) :

I.  Warm water flows eastward to South America.

Il. Upwelling blocked by warm water.

II. Warm air rises, causing low pressure and heavy rainfall.

IV. Descending air causes high pressure and warm, dry weather,
Choose the correct answer from the options given below :

(a) I,IV,III II

(by I, 1L I, IV

(c): 1,000 H. TV

(dy 1,1V, II, IIT

74. Which of the following statements of aerosols are true with respect to its effects on the
Earth’s energy balance ?

. Their scattering of solar radiation may decreases the albedo, and that decreases the
Earth's surface temperature.

II. Their absorption of radiation may locally increase the atmospheric temperatures
and thus both increases the radiant energy directed towards the Earth and
decreases the convective transfer of energy from the earth to warmer atmosphere.

[II. Their scattering of solar radiation may increase the albedo, and that decreases the
Earth’s surface temperature,

IV. Their absorption of radiation may locally decrease the atmospheric temperatures
and thus both decreases the radiant energy directed towards the Earth and
increases the convective transfer of energy from the Barth to warmer atmosphere.

Which of the above statemeﬂh!.a:e correct ? .
(a) Tand IIIonly

(b) 1and IIonly

(¢) IandIl only

(d) I andIVonly

75. Th nt/stream that carries warm tropical water from Caribbean to the cold waters
3 e curre

of North Atlantic region is called :

(a) California current (b) Kuroshio current
a

(¢) Circumpolar stream (4 s

C

(B-39)
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Consider the following Terms of Reference for Fifteenth Finance Commission.

L The distribution between the Union and the States of the net proceeds of taxes

which are to be divided between them and the allocation between the States of
the respective shares of such proceeds.

II. The principles which should govern the grants-in-aid of the revenues of the
States out of the Consolidated Fund of India and the sums to be paid to the

States by way of grants-in-aid of their revenues under Article 270 of the
Constitution.

[Il. The measures needed to augment the Consolidated Fund of a State to
supplement the resources of the Panchayats and Municipalities in the State on
the basis of the recommendations made by the Finance Commission of the State.

Select the correct answer from the code given below :
(a) TandII (b) ITand III
(e) Iand Il (d) T, 1II and III

Consider the following statements about E-Shram Portal for registration of
unorganized workers :

I. It was launched by the labour ministry.

II.  All registered workers shall be issued an e-Shram card with Universal Account
Number (UAN) to avail benefits of various social security schemes of the
government (like PM Shram Yogi Maan-Dhan Yojana),

111, Provision of accidental cover of ¥ 5 lakh in case of death or permanent disability
and ¥ 2 lakh in case of partial disability.

Select the correct answer from the code given below :
(a) Iand IIonly by I nEd il only
(¢) 1and IIl only ;»/f 11 and III

Which of the following policy measures does a government usually take to boost
demand and support the economy in deflationary situations ?

I Lowering interest rates together with cutting direct taxes
I Emphasizing savings and enhancing salaries

III. Increasing government expenditure

IV. Going for tapering of fiscal stimulus

Select the correct ANSWET :

(a) Tandll (b) IIlandIV
(¢) landII (d) TandIV
(B-41)



79. Consider the following statements about ‘Corporate Social Responsibility’.

I.  The United Nations Industrial Development Organisation defines it as a
management concept whereby countries integrate social and environ mental
concerns in their business operations and interactions with their stakeholders.

IL It ia. essentially a way of giving back to the society in which the company is doing
business and making profit for shareholders.

1. Companies Act 2013 made the CSR mandatory.

IV. Section 135 of the Company Act mentions every company having net worth of
¥ 1000 crores or more or turnover of ¥ 2,000 crore or more or a net profit of
2 5 crore or more during any financial year will have to spend in every financial
year at least 2 percent of the average net profits of the company made during
three immediately preceding years on activities defined under CSR. %

Select the correct answer from the code given below : oS 2 ’.’Z’:’S ;

s O

(a) 1,11 and I11 only (b) II, 11l and IV only d/cg

(© 1,1 and IV only () LIL Il and IV g X5

80. Darvaza Gas Crater, Gateway to Hell is situated in which of the following countries 7
(a) Tajikistan (bL—Kazakhstan a ,\(5“,
(¢c) Turkmenistan (@ Uzbekistan s
o)
81. Which of the following is better known home of golden langur ? Y /\’ 6
(a) Pakke Tiger Reserve (b) Kakoijana Reserve Forest %“
Mjaji National Park {d)  Desert National Park
82. How can Balance of Payments (BoP) deficit be reduced ? o 19c AUV
. - et
I. Depreciation of domestic currency w1 qe° % ) /’% .
A dci /554‘;0 o 012 A%

II. Increasing import duty 7, % "7 !

111, Providing export subsidies to domestic p?f)ducers

IV. Borrowing from abroad £ %6 0,; 3

Select the correct answer using the codes given below : 5 o

(a) TandIIonly (b) Iand Il only ,g/\ 6

(¢) 11and IV only (d)_,_Jfli and 111 e

(R0 0y
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Accurdz'n_g to the Union Budget 2023-24 which among the following is the biggest
source of the government ?

(a) Goods and service tax

(b) ~Union excis ;
2o 15e duty

85.

June 2023

(c) Corporation tax
(d) Borrowings and other liabilities

With reference to the Extra Budgetary Resources (EBR), consider the following
statements,

I.  EBRs are those financial liabilities that are raised by public sector undertakings
for which repayment of the entire principal and interest is done from the Central
Government Budget.

1. EBRs are not taken into account while calculating the Fiscal Defieit.
III. This method of raising capital has been discontinued since 2016.
Which of the statements given above is/are correct ?

(a) [only tb) [and I only

(c) I only (d) I, I and I1T

Which of the following statementis) is/are correct for “Hortinet” 7
1. It has been developed by APEDA.

[I. It is an integrated traceability system that provides internet-based services to
the stakeholders for exporting.

III. It captures the geo location of the farms through the mobile app.
IV, Samples are collected by private lab agencies and the reports are sent to the

authorities.
(a) III and IV only {b) I, 1Land Il only
(¢) II, III and IV only Mﬂ.mmd v

Consider the following statements regarding “Cyber Swachhta Kendra”.
I It comes under the Ministry of Information and Broadeasting.

I It comes under the Ministry of Electronics and Information Technology (MeitY).

II. It is Botnet Cleaning and Malware Analysis Centre.
IV. It is operated by C-DAC.
Which of the above statements are correct ?

(a) 1andIVonly (b) 11 and I1I only
(:) I, 111 and IV only (d) _II, T and IV only

(B-45)



R

95 59 Fue Y Nuar w8 frod 7t g 2
1; T i L
L. fe9 2W 99 RS 219w & fygrag 39

87,

1. fea)jaﬁrw?qwagﬁaa%é#ma‘r?ﬁwﬁn
Iv. @a@ﬁa‘qﬁﬁnn@mﬁmﬁa&%éﬁwﬁwﬁwfmmm

(a) fAgE I3 1 b) fAge w3 v
() fAgeE Im3 1v d) fAge 1,2 1v
88. I3 fBfent Y froz He 3 2 sadter I »
(a) I=F (b) FIZ () ffEt fitdt (d) uUSHfed

89. ITI & I fam S frFrdts yEding M Sfsrfea, agw, Wat-fin, dva-fad
I 3 T w3 IA-frardls yEEet o fean o3 3 | Io fofnr RS foad agw
firrfes 3 2

(a) WETSH (b) YBH (c) fyst ) foe3

90. fora T wifefanr-ts 1 it Fon St st yfafanre & v miE § e
39 w3 HIA 33 M St g8 e mifimre’ § I a3ar | B aT E
IU% 3 fore! §an €3 & MHEE B9 fHoT W39 AT JET 7
(a) ureute (b) WEEE
(c) ZréiTH () StmiEEn

91. g= I Y A" EWE, LIGO-REFmr widiar, Wﬁwmmcomnmmﬁ
TadeHS 2T (GW) fadacar @ Seeaa g M I wear | g9 fadaed
a1 fedams © fam ufog § Turge &g 1ee J3ad! 7
(a) FS3 AESIETS
(b) Y3 U gI=ET I U FEE
(© Anh HERE daarEs I GW € farsgen T uIT seE
(d) U3z A y

92. Hﬁhﬁm(wmmm@mémﬁﬂmmwww
o Rt I ?

(a) 428leg (b) 45 Bied (c) 50T ) 808 h

June 2023 (8-46)




g3. MH-60R Seahawk belongs to which of the following country ?

i (b) Israel

(¢) China Mnimd el

94. Which Section/Sections of the IPC prohibit(s) sale, letting on hire or otherwise

disposing of a child or, as the case may be, buying, hiring or otherwise obtaining
posgession of, such child ?

(a) Section 370 and 370A (b) Section 67
{(¢c) Section 362A {d) Section 372 and 373
95. Which of the following are included as being part of the “Right against Exploitation” in
the Constitution of India ?
| I.  Protection of the interest of minorities
II.  Prohibition of employment of children in factories and mines
III. Abolition of untouchability
IV. Prohibition of traffic in human beings and forced labour
Choose the correct answer using the code given helow :
(a) I, 11 and IV only I and IV only
{(¢) III and IV only (d) LI IOIandTV

96. Who can establish additional courts for better administration of any existing law with
respect to a matter eunmmbed in the Union List ?

(a) Su e Court of India
/m/l.kjt:::l}ommmem--by resolution

(¢) Parliament with the consent of states
(d) Parliament by law

9 i the following pair is not correctly matched ?

a) Absolute veto — withholding of assent to the bill

. = overridden by the legislature with a higher majority
(b) Qualified Veto Can be : . !
to - Taking no action on the bill passed by the legislature

(c) Suspensive Ve

(d) Pocket Veto —
period

Neither ratifies nor rejects nor returns the bill for an indefinite

(B-49)
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98. Which of the following are the features of a notified area committee 7

I Itis set up by an act of a state legislature.

IL. It is constituted for a newly developing town.

1L Its powers are similar to the powers of the Municipal Council,
IV. It is entirely a nominated body.

V. Its Chairman is elected by the members of the committee.

(a) IIL, IV and V only (b) I, III and IV only
(e) 1II, IV and V only (d) 1,1 and IV only

99. Consider the following statements about Finance Commission of India :

1. It consists of a Chairman and three other members,

1I.  Qualification of the members of the Commission is determined by the President.
III. It is to act as the balancing wheel of Indian fiscal federalism.

Which of the above statement/statements is/are correct?

{a) Iand IIIonly th) Il and III only

(c) III only /l/l’ IT and 11T

Match List I with List 1I and select correct answer from the code given below the lists.

List1 List IT
(Initiative) (Aims)
A, E - Resource centers 1. It is an artificial intelligence based portal
‘Nyay Kaushal’ aimed at assisting judges with legal research,
B. SUPACE 2. It isan artificial intelligence based software
? that can assist in translation of judgments
into regional languages.
g 3. It will facilitate e-Filing of cases in the
C. SUVAS Supreme Court, High Court and District
Court across the country.
e 4. It aims to interlink all the courts across the
D. E-Committee country and make Indian Judicial System
ICT enabled.
Codes :
A E .G P
w3 1 2 4
i A
@« 1+ 3.7
A N

(B-51)
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106 [dis2 Embassy in which of the following has

organized its much sought after annual
:p cultursl programme SARANG in October 20227

(b} South Korea

(@ Ruossia

197 With yeference 1o BRICS. which of the following <tatements is/are correct ?

BRICS is an acronym of five emerging economies

18 It was formed in 2001

o Somh:\ﬂicawass;ddedin'mw

v. 15¢BRICSSummitwﬂl'mhcsmdhySomhAfrim
Select;h&mﬂda.nswerusmgﬁwm&behw:

£ I and T only (b) I.Iﬂandl\*oul_v

o L Tsnd Wouly Mmmw

188, Monkeypox vacdm-mtnm-pwvwﬂbr the European Medicines Agency (EMA) for
Fmadﬂg&omme\iﬂﬁrmﬂy.“'hﬂisthemof&isvame?
) MMVANEX (b) MPVANEY

© MVANEX 5:1:---13!\1;&31
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L with n»l'erer?c(- to the India Infrastructure Project Development Fund Scheme, which
of the following statements is/are correct ?
1. It was launched on 14™ November, 2022
11. It was launched by the Department of Commerce
1. It's D'bj(?l:l,l\’t‘ i8 to aid d(’\'t?lupmcnt of quality PPP projects by prnvidj'ng necessary
funding support ;
Select the correct answer using the code given below :
(a) lonly (b) Tand Il only

(¢) Il only u)/l,ll:mdlll

112. With reference to the country’s first underwater transport tunnel and the corridor for
metro train, which of the following statements is/are correct ?
[. TIts test run was conducted in Calcutta
1. Its length under the river is 520 meters
[II. Tunnel is approximately 40 meters below surface of the river
Select the correct answer using the code given below :
(a) Iand IIl only (b) Tand Il only

(¢) Onlyl Mn and TIT

113. By defeating which of the following countries, did the India’s Men's badminton team
win the Thomas Cup title for the first time 7
(a) South Korea (b) Japan (e) Vietnam Indonesia

114. Match List I with List II and select the correct answer from the code given below the

lists :

List List IT
(Padma Shri Awardees in 2023} (Area ! Field)
A Munishwar Chandawar ; sp.ml .
B. Hemant Chauban 3_ SMM al Work
C. Mool Chand Lodha ; X
prasad 4. Medicine
D. SR.D.
Codes :
A B ¢ D
4
(a) 12 3 ;
(b) 4 3 2 "
© 4 3 1 ¢
3 1
(d 2 e
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§. With reference to the GST (Goods 5 ~ : . - 2 i
2 jg/are correct ? he GST (Goods and Services Tax) Council, which of the following
. Its Chairman is Union Finance Commissioner

Il

As per article 27 o :
per article 279(A), it is a Joint Forum of the Centre and the States

11, Its main “\ion is : : .
s fl-l-l-ttllun is making recommendations to the Union and States on 155ues
relating to Goods and Services Taxes.

Select the correct answer using the code given below

(a) land Il only (h) 11 and LI only

:cJ/P‘nndITIunly (d) 1,11 and 111
116. Match List T with List IT and select the correct answer from the code given below the
lists.
List I List II
(Noble Prize Winner-2022) (Field)

A Annie Ernau
B. Ales Bialiatski

//f.‘ Economics

2 Chemstry

C. Ben Bernanke, Douglas Dia Literature
and Philip Dybvig
D. Carolyn Bertozzi, Morten Melda 4. Peace

and K. Barry Sharpless

Codes :
A BSGCWgD;
tap o L L
® 1 20 403 .
ler 3 4 o2
‘/td} 3 4T

117. Consider the following statements regarding Mahila Samman Savings Certificate

Scheme : : : .
Al arti Scheme is a one time scheme available
: man Savings Certificate
L The Mahila S8 2 o493 March 2025.

for two years he scheme is # 1000/~ in multiples of rupees one

AL it under t
II. The n:aegnmtzmmieﬁ;imum deposit amount is T 2.00 lacs.
hundred an

der can withdraw up to 50% of the account balance after one year
M. The account *::;1 € ning date:
e of 7.5% p-a-

IV. This schem® e l:e ments are correct? Choose the correct option -
Which of the above St (b) 1L IIand 11T only
(a) IandITonl¥ (@) 1,11andIV only

(© 1 MIandIV o0l
(B-59 )
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